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QUESTION 1

Which of the following is correct?

A. Impact analysis assesses the effect on the system of a defect found in regression testing.

B. Impact analysis assesses the effect of a new person joining the regression test team.

C. Impact analysis assesses whether or not a defect found in regression testing has been fixed correctly.

D. Impact analysis assesses the effect of a change to the system to determine how much regression testing to do.

Correct Answer: D

QUESTION 2
Which of the following combinations correctly describes a valid approach to component testing:

i) Functional testing of the component in isolation. ii) Structure-based testing of the code without recording incidents. iii)
Automated tests that are run until the component passes. iv) Functional testing of the interfaces between modules.

A.iandii.
B. i, ii and iii
C. iii.

D. ii and iv

Correct Answer: B

QUESTION 3

A wholesaler sells printer cartridges. The minimum order quantity is 5. There is a 20% discount for orders of 100 or
more printer cartridges. You have been asked to prepare test cases using various values for the number of printer
cartridges ordered. Which of the following groups contain three test inputs that would be generated using Boundary
Value Analysis?

A.5,6,20

B. 4, 5, 80.

C. 4,5, 99.

D. 1, 20, 100.

Correct Answer: C
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QUESTION 4

Some tools are geared more for developer use. For the 5 tools listed, which statement BEST details those for
developers

i) Performance testing tools. ii) Coverage measurement tools. iii) Test comparators. iv) Dynamic analysis tools. v)
Incident management tools.

A. i, iii. and iv. are more for developers.
B. ii. and iv. are more for developers.
C. i, iii. and iv. are more for developers.
D. ii. and iii. are more for developers.

Correct Answer: B

QUESTION 5

Which of the following benefits are MOST likely to be achieved by using test tools?
i) Easy to access information about tests and testing.

i) Reduced maintenance of testware.

iii) Easy and cheap to implement.

iv) Greater consistency of tests.

A.iiand iv

B. ii and iii

C.iandiv

D.iand iii

Correct Answer: C
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